$$[\chi_{1jwu}] = \frac{|4e^{-\pi}|}{|4\pi_{+}w^{2}|} = \frac{4}{4+w^{2}}$$

$$[\chi_{1jwu}] = \frac{|4e^{-\pi}|}{|4\pi_{+}w^{2}|} = \frac{4}{4+w^{2}}$$

$$[\chi_{1jwu}] = \frac{|\chi_{1jwu}|}{|1+\pi_{+}w^{2}|} = \frac{1}{4+w^{2}}$$

$$[\chi_{1jwu}] = \frac{1}{4+w^{2}}}$$

$$[\chi_{$$

b using the time scaling histority (
$$\chi(xt) \leftrightarrow \frac{1}{1\alpha t} \chi(\frac{\pi u}{\alpha})$$
), we have:
 $\chi(3t) \stackrel{FT}{\longleftrightarrow} \frac{1}{3} \chi(\frac{\pi u}{\alpha})$
using the time shifting histority on this, we have:
 $\chi(t) = \chi(3(t-2t)) \stackrel{FT}{\Leftrightarrow} e^{-2t} \frac{1}{3} \chi(\frac{\pi u}{\alpha})$
4.19)
 $H(t) = \frac{\gamma(t)}{\chi(t)}$
Since it is diven that $J(t) = e^{-3t} - \frac{4t}{(3+3^2t)(4+3^2t)}$
Since, $H(t) = \frac{1}{3+3u} - \frac{1}{4+3u} = -\frac{1}{(3+3^2t)(4+3^2t)}$
Since, $H(t) = \frac{1}{3+3u}$, we have
 $\chi(t) = \frac{\gamma(t)}{H(t)} = \frac{1}{4+3u}$
Taking the inverse fourier transform of $\chi(t)$, we have
 $\chi(t) = e^{-4t}$

4.23
b)

$$\chi_{d}(t) = \begin{cases} e^{-t} & sts_{1} \\ sts_{2} & else where \end{cases}$$

$$\Rightarrow & -(1+\overline{J}t) \\ \chi_{s}(\overline{J}tu) = \frac{1-e^{-t}}{1+\overline{J}tu}$$

$$\Re_{1}(t) = \Re_{0}(t) - \Re_{0}(-t)$$
Using the Linearity and time reasol Arberties of the Forner
termsform we have:

$$\chi_{1}(\overline{J}tu) = \chi_{0}(\overline{J}tu) - \chi_{0}(-\overline{J}tu) = \overline{J}\left[\frac{-2t}{2}e^{-\frac{1}{2}s_{1}tu} + 2te^{-\frac{1}{2}s_{2}t}}{1+t^{2}}\right]$$

$$(1)$$

$$\chi_{1}(\overline{J}tu) = \chi_{0}(\overline{J}tu) - \chi_{0}(-\overline{J}tu) = \overline{J}\left[\frac{-2t}{1+t^{2}} + 2te^{-\frac{1}{2}s_{2}t}}{1+t^{2}}\right]$$

$$(2)$$

$$\chi_{1}(\overline{J}tu) = \chi_{0}(\overline{J}tu) + \chi_{0}(\overline{J}tu) = \frac{1+e^{-\frac{1}{2}t}}{1+t^{2}}$$

$$\chi_{1}(\overline{J}tu) = \chi_{0}(\overline{J}tu) + e^{-\frac{1}{2}t}\chi_{1}(+\overline{J}tu) = \frac{1+e^{-\frac{1}{2}t}}{1+\overline{J}tu}$$

4:26
i)

$$I(\sigma v) = \chi(\overline{s}v) H(\overline{s}v) = \left[\frac{1}{(2+\overline{s}v)^2} \right] \left[\frac{1}{4+\overline{s}v} \right]$$

$$= \frac{1_4}{4+\overline{s}v} - \frac{1_4}{2+\overline{s}v} + \frac{1_2}{(2+\overline{s}v)^2}$$
Taking the inverse Fourier transform are obtain:

$$J(t) = \frac{1}{4} e^{-\frac{1}{4}t} u(t) - \frac{1}{4} e^{-\frac{2}{4}t} u(t) + \frac{1}{2}te^{-\frac{2}{4}t}$$
(ii)

$$I(\overline{s}v) = \chi(\overline{s}v) H(\overline{s}v)$$

$$= \left[\frac{1}{1+\overline{s}v} - \frac{1}{3} \right] \left[\frac{1}{1-\overline{s}v} \right]$$

$$= \frac{1_2}{1+\overline{s}v} + \frac{1_2}{1-\overline{s}v}$$
Taking the inverse Fourier transform, we obtain

$$J(t) = \frac{1}{2} e^{-\frac{1}{4}t}$$

Ð

(2)
(2) Taking The Sourier transform of both sides of the jump
) Hernitial Charton, we obtain

$$H(\bar{s}\iota) = \frac{Y(\bar{s}\iota)}{\bar{\chi}(\bar{s}\iota)} = \frac{2}{-\nu^{2}+2\bar{s}\upsilon+8}$$
Using Partial Fraction expansion, we obtain.

$$H(\bar{s}\upsilon) = \frac{1}{\bar{s}\upsilon+2} - \frac{1}{\bar{s}\upsilon+4}$$
Taking the inverse Fourier transform,

$$h(t) = e^{-2t} - \frac{4}{\bar{s}\upsilon+2}$$
(b)
For the jump Signal With we have

$$X(\bar{s}\upsilon) = \frac{1}{(2+\bar{s}\upsilon)^{2}}$$
Therefore,

$$Y(\bar{s}\upsilon) = X(\bar{s}\upsilon) H(\bar{s}\upsilon) = \frac{2}{(\omega^{2}+2\bar{s}\upsilon+8)(2+\bar{s}\upsilon)^{2}}$$
Using botal fraction expansion, we obtain

$$Y(\bar{s}\upsilon) = \frac{4}{\bar{s}\upsilon+2} - \frac{4\bar{s}}{(\bar{s}\upsilon+2)^{2}} + \frac{1}{\bar{s}\upsilon+4}$$

Taking the inverse Fourier transform

$$J(t) = \frac{1}{7} e^{-2t} u(t) - \frac{1}{2} te^{-2t} u(t) + t^2 e^{-2t} u(t) - \frac{1}{7} e^{-4t}$$
(2) Taking the fourier transform of both sides of the Jimm differential
equation, we obtain

$$H(T_{r}) = \frac{Y(T_{r})}{X(T_{r})} = \frac{2(-u^2 - 1)}{-u^2 + \sqrt{2} T_{r}^2 T_{r}^2 u + 1}$$
Using the traction explosion, we obtain

$$H(T_{r}) = 2 + \frac{-\sqrt{2} - 2\sqrt{2}T_{r}}{T_{r}} + \frac{-\sqrt{2} + 2\sqrt{2}T_{r}}{T_{r} - \frac{-6}{2} - T_{r}^2}$$
Taking the inverse Fourier transform:

$$h(t) = 2S(t) - \frac{15}{2}(1+2T_{r})e^{-(1+T_{r})T/T_{r}^2} u(t) - \frac{15}{2}(1-2T_{r})e^{-(T_{r})T/T_{r}^2}$$

$$u(t)$$